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Finite Width =(2645)°

=c(2970)* & =:(2645)011+ = =c*rUTTH

2{2| C|#|0foi] CHsH

® 7|Z0= zero intrinsic widthZ =.(2645)0 A,
o AHX|E= 2.35 MeVe intrinsic widthE 7}%l.

e 0|0 }2} signal MCE F{AIA. (2tF)

o ME7| HEE MC L S= 7|Hte = S0 HE parity &
systematic X} 2M, (ZIEZ)



=:(2970)* -

=.(2970)* —

Mass Window

=c(2645)01T+ & =+ Tt (left, mass window: x5MeV)

=c Irtt = =0yt (right, mass window: =8MeV)

o ZI x'20 CH3H =(2970)+ S L|E5}0{ signalt background 74
=5 F&.
® FOM = S/ S+B 2 25} 5t= 2.



Mass Window Z|Xi5}

=c(2970)+ = =c(2645)01T+ = =*TUTTH (left, mass window: =5MeV)

=c(2970)+ & =.0mt+ = =:0y1t+ (right, mass window: +8MeV)

2l°| cut ZX=2 Yelton?| A.

e FOM = S/ JS+B £ 205} 3lE=.



Mass Window Z|X3

=c(2970)+ = =¢(2645)01t+ = =TT+ (left, mass window: 5MeV)

=c(2970)+ & =0t = =:0yrt+ (right, mass window: +8MeV)
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FOM vs Mass window of E,(2645)°(x x MeV)
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FOM vs Mass window of Z2(z x MeV)
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+ 5 MeV/c2 = =+ 10 MeV/c2

+ 8 MeV/c2 = = 11 MeV/c2
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